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Vel Ha ELERS 253 RE g i [4gw ] A ER 29 SRR
SAREA =i 104913330308096 3 NHERZPR 120405 | THEERETE 327 /
FARF(I FTR 104913330308165 WX IR NHEEZR 120405 | THERFIREIE 296 /
FARE(I i 104913330308097 Sk NHEEZMR 120405 | LihEEIRETER 290 /
FARF(I DOPR/REI-FESE= | 104913130301499 | 5§k NHEEZFIR 120405 | LihERIRETE 279 /
BAREA =i 104913330308139 FErMERE NHERZPR 120405 | THEFIRETE 273 /
SRR Zhe 104913330308158 =33 NHEEZMR 120405 | THEERIRETER 267 /
SEAREAT EEE 104913130301506 ik NHEEZR 120405 | LihEEIRETER 262 /
HEARZT ElETES 104913330308124 T3Ri& NHEEZMR 120405 | THEFIEEIER 262 /
FAREAT K7 104913330308062 TRk NHEERZR 120405 | TiEREE 257 /
HEARZT EST/ID 104913330308059 PN NHEEZ R 120405 | LihERiIRETER 251 /
FAREN M= 104913330308154 Bk NHERZPR 120405 THRRETE 251 /
TiEmt FREM 104913310311252 533 TR 085900 TARIKF] 386 /
TiEmt SIEE 104913310311469 banjc3 T2k 085900 TARIKF 351 /
TiEmt [BIE 104913310311383 T3Ri& T2k 085900 TAIKF 345 /
TrEmt TREeHe 104913120203069 ki MEBEFHEEFM 085500 HU 340 /
TiEmt KB 104913110303191 ik T2k 085700 BESHE 335 /
TiEmt KIB 104913310311466 T3k TEFk 085900 TAKF] 330 /
TiEmt ZMER 104913110302644 T3Ri& T2k 085900 TAIKF 322 /
TiEmt BRE 104913310513296 T3k INEF R 085900 T ARIKF 312 /
TiEmt KN 104913310311503 Hith T2k 085900 TAIKF 309 /
TiEmt g Vit 104913320310389 i HHENFR 085400 BFEE 302 /
TRt =2yvg | 104913320212101 Sk S8R HEEFMR 085500 Wt 301 /
TiEmt K5 104913120302181 )3 TENEE 085400 BEHER 300 /
TFEmt KN5-ANB 104913120402856 I5F=sehk BaMLERT 085400 BHER 300 /
TrEmt ZHAR 104913320112965 Bk WESEE IR 085700 BESINE 299 /
Tt FERMTF 104913110603032 =33 REZMk 085600 MEST 290 /
TiEmt TR 104913320411681 )3 EE}J{JCL?‘&B;—E 085400 BFEE 288 /
TFEmt Fi 104913320112956 a3 WIRSEE TR 085700 BRSNS 287 /
TiEmt BT 104913310311102 PN I&;Bm 085700 BRSNS 284 /
TiEmt oMl 104913110302585 TRk T2k 085900 TARIKF 284 /
TiEmt FHER 104913320213244 PR3 N SBEHEEFER 085400 BFEE 279 /




Ve S Ha ELERS 253 =i i [4gw ] A EZR 29 SoRES
Tt FAR 104913330313721 ik INHETRSR 085700 BRSNS 279 /
TEmt =P8 104913320411696 T3Ri& Sié=ali 085400 BFERE 278 /
TrEmt EEM 104913210504345 i INEZF R 085700 BRSNS 278 /
TiEmt ERT 104913310311447 T3Ri& T2k 085900 TARIKF 276 /
TEmt EU=Ei 104913220104392 b33 HWIESEETIESE 085700 BRSINE 274 /
TiEmt AtE 104913120302201 TRk HHENFER 085400 BFEE 272 /
TiEmt Rk 104913110403274 Bl YR Sz BHE B 085700 BESINGE 268 /
TiEmt [ARNE 104913310311517 T3Ri& T2k 085900 TARIKF 267 /
TiEmt PAKIELE - M/REMES) | 104913110302478 | MSFEmelic TR 085700 BESINE 265 /
TiEmt Zety) 104913120302202 Ati& HHENFER 085400 BFEE 259 /
TiEmt R 104913320310388 i3 TENFER 085400 BFEE 252 /
Bt &= 25k 104913330104662 (B3 SREEZR 125300 21t 238 120.81
HithZll=# {3 BRI 104913130100133 TRk ZFEEZR 125300 &it 233 118.27
Bt &= AE 104913330104548 )3 SREEZ 125300 21t 231 117.26
HithZll=# {3 ARE 104913330104665 i3 ZFEEZR 125300 &it 230 116.75
Hitn Bl &amE 104913330104676 w3 SREEZ 125300 21t 227 115.23
Hith Bl 257 S 104913330104620 T3k SFFEESFR 125300 it 226 114.72
Hitt =35 MR 104913330104681 (633 SREEZR 125300 21t 224 113.71
Hitt Bz =P 104913330104608 T3k =g 125300 2it 224 113.71
Hith Bl EEE 104913330104666 53 SREEZR 125300 21t 223 113.2
HithZ = FE 104913330104527 e ZFEEZR 125300 &it 222 112.69
Hits Bl WES 104913330104641 T3Ri& SREEZR 125300 21t 222 112.69
HithZ = TEE 104913330104547 =33 ZFEEZR 125300 2it 220 111.68
=30 li== v HET 104913130100158 PN SFREER 125300 21t 219 111.17
HithZ\={u PR 104913330104542 ok FFEEFR 125300 £it 218 110.66
HitiZ = s 104913340305563 1zt ABEFM 045200 vN=1] 337 110.49
Hitt Bl = FiRA 104913330104532 Sk SFFEEFR 125300 £it 215 109.14
Hits Bl o= 104913140203712 [E1)i:3 HF SRS 025200 NSt 377 108.96
HithZl={u ER[H] 104913330104537 Sl KFFEEFR 125300 £it 214 108.63
Hts Bl b3 | 104913330104522 e SREER 125300 =it 214 108.63
Hitn Bl = B/ 104913330104528 Sk FFEEFR 125300 21t 214 108.63
HithZ\l= {3 Pl 104913330104611 T3k SR EER 125300 20t 214 108.63
HithZl= il 104913340305595 T3Ri% KEFkk 045200 =} 331 108.52




Ve S Ha ELERS 253 =i i [4gw ] A EZR 29 SoRES
=t =l v 1=E 104913330104694 (B3 SFEESR 125300 20t 212 107.61
HithZ\= Ei8/R- RR 104913330104706 | “#E/Rik FFEEFR 125300 21t 212 107.61
HithZ\l= {3 P 104913340305631 ik ARBEHR 045200 rN=] 326 106.89
HithE\= EIOE 104913330104691 )3 SREEZFR 125300 21t 209 106.09
Hitt Bl Sy FEER 104913330114186 ok SZFEEER 025600 BTG 363 104.91
HithE\= X 104913330104512 Eik SREEZFR 125300 21t 206 104.57
=== v BEtE 104913130100163 T3k SZFEEER 125300 20t 204 103.55
HithE\= vEnE 104913330104526 Stk SREEZFR 125300 21t 203 103.05
Hith Bl 257 K 104913130100106 Hith SFFEEFR 125300 =it 202 102.54
HithE\= W7BEE 104913130103758 (Bl SREEZFR 025600 BrEisy 354 102.31
Hith Bl 257 e 104913330104520 Sk SFFEESFR 125300 it 201 102.03
Bt &= S 104913330104690 )3 SREEZR 125300 21t 199 101.02
Hith Bl 257 PATAR 104913330104534 Sk SFFEESFR 125300 it 199 101.02
Bt &= Eihcesd 104913130103762 T3Ri& SREEZ 025600 B 348 100.58
Hith Bl =45 N 104913340114813 =i IMNEEF R 055100 EES 365 100.55
Bt &= S4B 104913330104533 E1)i3 SREEZ 125300 21t 197 100
HithZll=# {3 Pl 104913330104703 T3k ZFEEZR 125300 &it 196 99.49
HtE {3 XBEHFR 104913340305546 T3Ri& REFkk 045200 rN=} 303 99.34
HithZ = SR 104913330104693 3 ZFEEZR 125300 &it 195 98.98
Hits Bl HEF R 104913340114836 w3 HNEEF PR 055100 e 358 98.62
HithZ = pie=AN 104913330114273 (Bl ZFEEZR 025600 BEEEG 341 98.55
Hitt =35 B 104913330104658 S)i73 SREEZR 125300 21t 194 98.48
HithZ = K 104913330104664 )3 ZFEEZR 125300 2it 193 97.97
Hits Bl 1RES 104913330104524 e SFREER 125300 21t 193 97.97
HithZ\={u m2E= 104913130103656 E1)i23 FFEEFR 025100 £F 338 97.69
HitiZ = FiaE 104913330406111 )3 SARSIER SR 135108 2Kt 353 97.51




